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or f(x) = »3 _ 3.2 :
For f(x) = x° - > X%+ 1. Answer the following six questions

25) The critical numbers are

A)0,—-1 b5)1,2 C)0,-2 D)0,1

26) f(x) has local maximum at x =

A)O B) — 2 £) 2 D) 1
27) f(x) has local minimum at x =
A)O B) —2 C) 2 D) 1
28) f(x) is increasing on the interval
A) (—00,0)U(1,02) B)(—90,0)U (2,0) C) (0,1) DY (0,—2)

29) [f(x) is decreasing on the interval
A) (0,—-2) B) (—,0) U (2, o) C) (—o0,0) U (1, o0) D) (0,1)
30) f(x) has inflection point at x =
A) — = B) 1 &)1 D) 0
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I) The graph of f(x) = x* — x on the interval (—3,3) is

A) concave up B) concave down

* §inx on the interval L0, 1) 15
A) concave up

B) concave down




